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I 2y mwn: various liquids as they pertain to yin naipn
a If: somone does 7"t with (even) some of the o7 he is liable
i Comment (8¥27): even 8™ (who insists on n2pn of full j27p for liability) agrees that some o7 is sufficent
1 Proof: 8" (and w™) hold that if ©°39 nnNn on 2”ny are interrupted (79v1), pick up at that point
b v 3) 871 even if he libates the ann 'n outside during m» o - liable
i g7 8" was following his teacher, ™, who holds that onn o2 is :n”nn
1 /yoris two libations — wine and water (assumption — should be parallel)
2 Challenge (5”): then there should only be liability at 3 pn% (minimum for wine) - but 8" said any water
(a) And: there should be liability at any time of year (::wine); but he said »na
3 Answer: " (perhaps — see 'o1n ,»"w7) missed the report of 1070 n>a nypa wR ®1n1 *27 — that “10 saplings”
(that justify watering an entire nXo n»a during n’»»aw 17y), n27y (on M210) and onH o7 are all n"n%n (mean-
ing — all agree, and it wasn't just 8" picking up on »"1’s approach)
ii  Ap772 if someone libaters 3 P35 of water outside — liable
1 »77if he filled them »nn oWy — liable
(a) Point of disagreement:
(i) 77 if there is a MW for DNN PN
(if) 977 whether n’>v1 were brought in the desert (discussion below)
(iii) #2227 whether we infer nnn o2 from 170 P2 (and would require 3 pnY)
ili ~ Am7772 liable for 10 7071 outside — if he libates 3 1Y
1 w77 only if they were sanctified in the 53
2 Point of disagreement:
(a) 77 status of overheaped water (beyond measure)
(b) A37 whether n’>01 were offered at a nna
(i) And: this follows dispute nmon/a1:
1. 727 individual nna (=mvp nn1a) does not require w>av1 (with 129p offered there)
2. p’porr ool are required
(ii) And: this dispute follows an earlier n'®in np1>nn — between YRynw’ 1 and y™:
1. ¥p22329": v. 2 implies a nna used for everyone (n%13 Nna) = no 0’01 at MYVP NN
a.  p”7.IRan ) expands to MYp Nna (as DIYMavIN YIR already implies %13 nn1)
2. Conclusion: »*1 maintains that 0’21 were not offered in 7a7n; Y"1 avers that they were
a.  Explanation: if 0’201 were practiced in 92, 710 doesn’t have to permit them for n% 1 nna
- the permission is for mvp nna (per »™; infer »*1 from here)
¢ 277 evenif he pours some of 070 »”V outside - liable
i prr 7 he follows the opinion that n»w are indispensible (n723vn DY)
1 Challenge: v shared his opinion, "1 countered by noting that n7n »”W are mxn MY
(a) 277 argues from p»1791 D712R, which are mxn Y, yet offering them yina is liable
(b) »”7 D179 DM1R are the beginning of (their own) nTay; 0Tn *”V are not
(i) And:if ¥ really held that nrasyn n»7v, he should have countered with that
2 Defense: once we learned that the dispute about the indispensibility of n»7w is only re: n»nna p»w:
(a) 277 was referring to n»m80 0”1V, but their dispute was about o n¥n oY
(i) And:y™ didn’t understand 1™, so he countered per n»n¥'n n»W and 1" answered him based on
that premise
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